ics A (2014 Admission-
- ECO2C05 : MICR /Developmen
: ROECONOMIC THEORY -\

or all questions. All questions carry equal marks

 The reaSOﬂ/S given by Hall and Hitch for the breakdown of marginalism may

i be summarized as :

| Firms do not know their demand curve n
application of the marginalist rule (MC = MR) is impos

relevant information.

ed that the ull-cost price’ is the f
d covered the costs of production W

or their marginal costs, hence the
sible due to lack of -

1
)

, Firms believ ght price, since it allowed a 3
fair profitan hen the plant was —t
utilized. Ead

A) Statement | alone is correct

B) Statement Il alone is correct

C) Statement | and Il are correct

D) Statements | and Il are incorrect

n which raises the marginal product of labo

tal labour ratio is :

ur relativel

2. The productio
gt_cqnstant capi
A) Labor saving technical change
) Capital saving technical change




uded in Jthe basbass

ales revenue subject e

xogenously determined by the demand.
the banks and other financia)
Y

instrumental variable whose value is endogenously

. nventional cost and revenue function

5. Identify the correct formula according to the average cost principle::

P =AFC + GPM
=AVC + NPM
P =AVC + GPM
=AVC + AFC + GPM

ng to Bain’s limit pricing theory, the condition of entry (E)is: ‘

1urr;‘ ::c':wrw;\g to the established firms in an industry from
| igher than the pure competitive price |

cer ;:g ;o the established firms in an industry fr om e
margma| e Produc'uon 3




S il "ﬁ,"f P s i
the equilibrium in a set of competitive

are theorem

nong the following is not a basic assumption of Euler's Product

on Theorem ?
umes a linear standardised production of first degree which implies

able returns to scale
| |t asSumes that the factors are complementary

assumes that factors of production are perfectly divisible
) Itis applicable only in the short run (8xY2=4)
tion carries 2 marks. No answer should

er any eight questions. Each ques

d one page-

main short comings of Modigliani's model of limit pricing Y

‘ZWhat are the

0, Define technological progress:
and general equilibrium.

“tinguish between partial

bt

Explain the term widow’s Cruse.

l ‘ guish between z€ro sum and non zero sum
nts of the entry-preventing price in Sylos’s M

games.

e

are the determina

e a note on elasticity of factor substitution.

‘mean by Quasi rent ?
ve of Jabour can bé packward-bér

d S uk




;- o the wage differences of workerg

ugﬁon Theorem numerically.

ance of game (10

of national income into profits and wages depen
ol in the econoimy. Substantiate.

PART - D

ry in economics.

ds Upon

two questions. Each question carries 10 marks. No angye :
Mshoulg |

opumamy Discuss the marginal conditions of Paretg optlmamy

e the marginal productivity theory of distribution,

model of distribution.
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